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=ZEIA 1,800,000 1,800,000 0

FEIXA 1,000,000 1,000,000 0
BEREHBSIA 30,608,000 32,696,000 -2,088,000

B BB XA 100,000 90,000 10,000

EXEY |[ZFESIA 18,760,000 15,160,000 3,600,000
BERERENRA 1,000,000 1,000,000 0

EXIA 415,000 435,000 -20,000
NERRIXA 100,250,000 | 100,100,000 150,000
BEALVEALEEINA 13,300,000 12,800,000 500,000
SZHFRESEINA 56,000 56,000 0
ZTDHDIXA 197,000 183,000 14,000
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AHEZH 124,990,000 | 121,066,000 3,924,000
BEEXH 26,827,000 27,947,000 -1,120,000

BXTE |EHEXH 6,420,000 6,470,000 -50,000
BEREEXH 1,000,000 1,000,000 0
TEEXH 230,000 280,000 -50,000

B &3 310,000 180,000 130,000
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FDMOES [muraEss —E RRSEEAZS 10,960,000 11,590,000 -630,000
F E & |TFREXH 29,000 27,000 2,000
= B 9 =8 171,486,000 | 169,320,000 2,166,000




